
 SBIOA SENIOR SECONDARY SCHOOL , TRICHY  -  7 

Class: IV                              Mathematics                Revision Worksheet No: 1 

Name: __________                  Date: 18- 6- 2020                            Day: Friday 

PART -  1 

Choose the correct answer: 

1.  What is 3000 more than 36,673? 

a) 35,673          b)  39, 673       c)33,673 

2. What is 200 less than 12,000? 

a) 11, 800         b)12,200           c)11,200 

3. What is the greatest 6 digit number? 

a) 9,99,999      b) 1,00,000  c)6,66,666 

4. Write the numeral   for One lakh? 

a)  1,00,000     b)   10,000   c)10,00,000 

5.  What is the successor of   largest  4 digit number? 

 a) 1,000     b) 9,999      c)10,000 

            6.  The largest 6 digits number using   3,6,2,8,9,4 only once 

                  ( without repitation) 

a)    986432     b)    999999    c) 234689 

   7.   The number name of 909090 is ---------------. 

        a)  Nine lakh nine thousand nine 

        b) Nine  lakh ninety thousand ninety 

        c) Nine lakh nine thousand ninety 

   8.  The numeral for forty thousand forty four is _________. 

        a)  40,044        b)  44,044   c)  40,444 

   9.  The place value of  9 in 37942 is   _____. 

        a) 9000   b)  hundreds   c)  9. 

  10  The face value of 6 in 463482 is _____. 

a) 60,000      b)  6    c) 6 –Ten thousands 

11.  Write the numeral  for Three lakh fourteen 

a)   3,00,040             b)  3,00,014       c)  3,14,000 

12  Write in ascending order: 

   i)   3,56,563     ;   ii)    3,56,365  ;   iii)  3, 56,653. 



a)   i),  ii)  ,  iii).          b)  ii)  ,  i)   iii)       c) i)  ,  iii) ,  ii) 

13.  The  smallest 5 digit number using 7,3,0,2,5 without repeating the digits   

is ________. 

a)  20,357       b)      02,357       c) 20,000 

 14. The greatest 5 digit number using 3,8,9,5 with repeating the digit is 

______. 

a) 9,853          b)   99,999         c)30,589 

15.  The greatest 6 digit number using 6,3,7 with repeating the digits is 

_____. 

a)   3,67,777      b)    7, 77, 763         c) 763 

16.  3 lakh    more than     37,456    is  ___________. 

a)   3,3 7,456      b) 67,456     c) 40,456 

17.  65784  round to nearest thousands is -----------. 

    a)  66,000      b)  65,000      c) 66,784 

18.   7, 39,999  is round to nearest tens is ________. 

   a)  7,40,000    b)   7,39,990     c)   7,00,000 

19.     The successor   of  largest 4 digit number   _______   the smallest 5 

digit number. 

a)   <        b)  >         c)   = 

20.   The Roman numeral for 49 is ______. 

  a)  XLIX                   b) IL               c) XXXXIX 

21.  _______  has no symbol in   Roman numerals. 

a) 100       b) 0         c) 99 

22. Which symbols never repeated in Roman numerals. 

    a) V       b) L      c) D    d ) all a,b,c 

23.   The number 4 in Roman numerals is     _____. 



a)   IV        b)   VI             c) IIII 

24    Write  your age   and year 2020  in Roman numerals 

a) IX  and MMXX       b) X MMXX      c)DDDDXX 

25.    Which of the following Roman numerals can repeat for maximum 

three times: 

a)  C      b)   L   c) D 

26.  The Hindu-Arabic numeral for XXVII is ________. 

a) 23     b)   27    c)   26 

27.      The Hindu- Arabic numeral for   M is   _______. 

a) 1000    b)  10       c)100 

28.   Roman numerals  for 43  is ________. 

a) XLIII       b) XXXXIII    c)        XIIIXXX 

29.  Which is correct? 

a)     DD  is 1000       b)  LL is 100      c) C is 100 

30)  Which is correct? 

a)   15 is  VVV        b)  15 is XV    c) 15 is  VXX 

 

                                  Part  2  

Do the following in single step:   

1.  If 4536 -2000 = 2536   then  4536 -2536 = _________ 

a) 0            b) 2000           c) 7072 

2. If 6295 + 3067 = 9372, the   9372 – 3067= ________. 

a) 6295             B)3067          c) 9372. 

3.  Write the correct number  in : 8730 -  _______  = 0 

a) 0                b)   8730        c)none of  these 

4.  345+ 532+231 =11o8,  then  532+ 231+345 =1108; 

a)   True    b) false   

5. What  is sum of any number and zero ?  ____ 

a) 0           b) same number       c)total 

 

 



 

Part   3 

1.   2,00,000 + 40,000- 60,000 = ----------. 

a)   3,00,000                      b)  2,20,000                c)1,80,000 

2.  40,000 + 30,000+ 30,000 =  ________ 

a) 1,00,000                     b) 10,000    c) 4,33, 000 

3.   1,00,000 -3,000-   7,000=  ________ 

a) 99,000   B)  90,000     c)9,09,000 

4.     50,505 +5,050+22,222  = ________ 

a)  77,777     B) 7,777     c)70707 

5. 89,999- 8,999 = _______. 

a) 80,000              B) 81,000    c)98,998.- 

 


